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[Time: Three Hours] [ Marks:100] 

Please check whether you have got the right question paper. 

N.B: 1. Question No.1 and 2 are compulsory and carry 20 Marks and 16 Marks 

Respectively. 

2. Attempt any four questions from the rest, carrying 16 Marks each. 

3. Working Notes should form part of your answer. 

4. Proper presentation and neatness is essential. 

5. Use of simple calculator is allowed 

 

Q.1  You are required to prepare a statement showing the working capital required to finance the level of 

activity of 30,000 units per year from the following information:- 

1. Raw-materials are in stock on an average for 2 months. 

2. Materials are in process on an average for half a month. 

3. Finished Goods are in stock on an average for one month. 

4. Credit allowed by the suppliers is 3 months of purchase of raw-materials and credit allowed to 

customers is 5 months. 

5. Lag in payment of Wages and Overheads is one month. 

6. Provide a margin of safety at 10%. 

7. Debtors are valued at selling price. 

8. Activities are spread evenly throughout the year:- 

Cost per unit:- 

Raw- material - Rs. 16 

Wages        - Rs. 08 

Overheads - Rs. 12 

Profit is 25% on Cost. 

 
 

20 

Q.2  a) Fill in the Blanks:-  

1. Gross Working Capital = Total ______ Assets  

2. Redemption of Preference Shares is considered as Cash Flow from__________ 

Activity. 

3. MIS plays an_______ role in business 

4. Dividend paid should be shown as cash flow from_______ Activities. 

5. Profit on sale of old computer is_______ income. 

6. _________Working Capital is excess of current liabilities over current assets. 

7. The project with lower NPV should be________  

8. ___________Ratio indicates short term solvency. 
 

 
 

b) State whether the following statements are True or False: -  

1. A project with shorter payback period should be accepted. 

2. MIS should furnish quantitative and qualitative information. 

3. Profit on Sale of Machinery is an Operating Income 

4. Working Capital is excess of Current Liabilities over Current Assets. 

5. Debtors should be valued at cost price only. 

6. Capital budgeting decisions are long term decisions 

7. All quick assets are current assets. 

8. Redemption of Debentures creates cash flow from investing activities. 
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Q.3  Following is the Revenue Statement of M/s Rajesh Ltd.:-  

Trading Profit & Loss Account for the year ending 31- March, 2018. 

Particulars Amount Particulars Amount 

To Opening Stock 54,300 By Sales 5,40,000 

To Purchases 3,27,150 By Closing Stock 84,000 

To Carriage Inward 8,550 By Interest received 

 

5,400 

To Office Expenses 90,000   

To Sales Expenses 27,000   

To Loss on Sale of 

Fixed Assets 

2,400   

To Net Profit c/d 1,20,000   

 6,29,400  6,29,400 
 

Calculate the following ratios:- 

i) Selling Expenses Ratio 

ii) Stock Turnover Ratio 

iii) Operating Ratio 

iv) Net Profit Before Tax Ratio 

  v)       Gross Profit Ratio 

Give your comments on Gross Profit Ratio. 

Note: Vertical Revenue Statement need not be prepared. 
 

16 

Q.4  From the following balances given below calculate the following ratios and comment on Liquid Ratio 

a) Capital Gearing Ratio 

b) Proprietary Ratio 

c) Current Ratio 

d) Liquid Ratio 

e) Stock to Working Capital Ratio 

 

Particular  Rs. Particular  Rs. 

Cash in bank 25,000 Land & building  4,00,000     

Expenses paid in 

Advance  

31,000 Stock 1,36,500 

Creditors 2,03,000 Debtors 2,61,500 

Bills Receivable 10,500 Plant & Machinery 2,72,000 

12% Debentures 1,25,000 Loan from Directors 2,00,000 

Equity Share Capital 5,00,000 (Repayable after three 

years) 

 

Profit & Loss (Cr. Bal) 1,08,500   

 

Note : Vertical Balance Sheet need not be prepared  
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Q.5  Complete the following Trend Income Statement of M/s Bhide Ltd. for the year ended 

 

Particulars Amount Trend % 

2015 2016 2017 2018 2015 2016 2017 2018  

Net Sales ? 4800 ? 4000 100 120 80 100 

Less: Cost of Goods Sold ? ? 2560 3000 100 110 100 ? 

= Gross Profit 1440 ? 640 ? 100 ?  44.44 ? 

Add: Non- Operating Income 300 180 270 ? 100 60 90  50 

Less: Non-Operating Expenses  20 ? 16 32 100 40 ? 160 

= Profit before Interest & Tax 1720 2156 894 1118 100 ? ? 65 

Less: Interest ? 80 240 120 100 ? 600 ? 

= Profit Before Tax 1680 ? 654 ? 100 ? ? 59.40 

Less: Tax 840 ? ? 499 100 ? 38.93  ? 

= Profit After tax 840 1038 327 ? 100

 

, 

? ? 59.40 

Less: Dividend 20 ? 18 6 100 ? 90 30 

= Net Earnings 820 820 309 493 100 100 ? ? 

 
 

16 

Q.6  Sumit Industries Ltd, has an investment proposal of Rs. 30 lakhs. 

The expected cash inflows and present value factors are:- 

 

Year  Profit  P.V. factor @ 10% 

1 5,25,000 0.909 

2 5,25,000 0.826 

3 6,00,000 0.751 

4 6,00,000 0.683 

5 6,75,000 0.621 

6 6,75,000 0.564 

7 7,50,000 0.513 

8 7,50,000 0.467 

9 6,00,000 0.424 

10 4,50,000 0.386 
 

You are required to ascertain:- 

i) Payback period  

ii) Net present value @10% 

iii) Profitability Index @10% 
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Q.7  The following balances appear in the books of M/s. Gupta & Sons. as on 

31st March, 2018. You are required to prepare a Vertical Balance Sheet for financial analysis. 

 

Particulars Amount 

Provision for Income Tax 8,000 

Advance Tax 9,000 

Marketable Investments 5,000 

Profit & Loss Account - Credit Balance 8,000 

Equity Share Capital 40,000 

Bank Overdraft 9,000 

Loan from bank 17,500 

Machinery 26,000 

Preliminary expenses 1,500 

Sundry Debtors 9,000 

General Reserve 7,000 

Sundry Creditors 4,000 

Stock 15,000 

Building at Cost less Depreciation 20,000 

 Cash and Bank 8,000 

 

 

16 

Q.8  The Balance Sheets of M/s 5 Star Ltd are as follows:- 

 

Liabilities 2017 2018 Assets 2017 2018 

Equity Share Capital 3,00,000 4,00,000 Goodwill 1,15,000 90,000 

8% Redeemable Preference Share 

Capital 
1,50,000 1,00,000 Land & Building 2,00,000 1,70,000 

General Reserve 40,000 70,000 Machinery 80,000 2,00,000 

Profit & Loss 30,000 48,000 Stock 77,000 1,09,000 

Sundry Creditors 55,000 83,000 Sundry Debtors 1,60,000 2,00,000 

Bills Payable 20,000 16,000 Bills  Receivable 20,000 30,000 

Provision for Income Tax 40,000 50,000 Cash at Bank 10,000 8,000 

Proposed Dividend 42,000 50,000 Cash in Hand 15,000 10,000 

   6,77,000 8,17,000   6,77,000 8,17,000 

 
 

Additional information :- 

 

1. Depreciation of Rs. 10,000 and Rs. 20,000 have been charged on Machinery and Land & 

Building respectively. 

2. An Interim Dividend of Rs. 20,000 has been paid in 2018. 

3. Rs. 35,000 Income Tax was paid during the year 2018. 

You are required to prepare Cash Flow Statement for the year ended 2018 in accordance with AS-3, 

using Indirect Method. 

 

 

 

16 



 
 
 Q.P. Code : 36798 

 

Page 5 of 10 
 

Q.9  Write short notes on any four of the following:- 

a. Steps in designing Management Information System (MIS). 

b. Gross Working Capital & Net Working Capital 

c. Characteristics of Management Information System (MIS). 

d. Capital Gearing Ratio. 

e. Trend Analysis 
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*************** 
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[वळे: तीन तास] [ गणु:१००] 

Please check whether you have got the right question paper. 

सचूना: 1. प्रश्न क्र.१ आणण २ अणनवार्य असनू तर्ाांना अनकु्रम े२० व १६ गणु आहते. 

2. शषे प्रश्नातनू कोणतेही चार प्रश्न सोडवा तर्ाांना प्रतर्ेकी १६ गणु आहते. 

3. कृती नोंदीचा तमुच्र्ा उत्तरात समावशे करा. 
4. र्ोग्र् सादरीकरण व नीटनेटकेपणा आवश्र्क आह.े 

5. साधे गणकर्ांत्र वापराव.े 
 

प्र. १  ३०,००० नग प्रणतवषय असा करभार असलेल्र्ा सांस्थेकरता खळेते भाांडवल पत्रक बनवा 

१) कच्चा मालसाठा २ मणहन्र्ाचा आह े

२) माल प्रणकर्ेचा कालावधी १/२ मणहन्र्ाचा आह.े 

३) तर्ार मालसाठा १ मणहन्र्ाचा आह े

४) कच्चा माल ३ मणहन्र्ाच्र्ा उधारीवर आह ेव ग्राहकाांना ५ मणहन्र्ाची उधारी णदली आह.े 

५) मजरुी व उपरी पररव्र्थय १ मणहन्र्ाचा अांतराने णदले जाते. 
६) १० % सरुक्षा तरतदू ठेवावी 
७) ऋणको  णवक्रीवर काढाव े 
८) परीव्र्र् पत्रक प्रती नग 

तपशील                         रु. 

कच्चा माल                  १६ 

मजरुी                           ०८  

उपरी परीव्र्र्                १२    

नफा एकूण परीव्र्र्ावर २५%  
 

20 

प्र.२  अ) गाळलेल्र्ा जागा भरा. 

१) ढोबळ खळेते भाांडवल = एकूण____________ मालमत्ता 
२) अग्रहक्क भागाांची परतफेड______णक्रर्ेचा रोख प्रवाह मानला जातो. 
३) व्र्वस्थापन माणहती प्रणाली व्र्ापारामध्र्े _______ भणूमका बजावते 

४) वाढलेला लाभाांस ________ प्रणक्रर्ेत रोख प्रवाह म्हणनू दाखवला जातो. 
५) जनु्र्ा सांगणक णवक्रीवरील नफा_____ उतपन्न आह.े 

६) ________ खेळते भाांडवल चाल ूमालमत्ता वजा चाल ूदरे्ता आह.े 

७) कमी णनव्वळ सहा मलू्र् असलेल्र्ा प्रकल्प_________ 

८) ________ अनपुात अल्प मदुतीची शोधन क्षमता (solvency) दशयवतो. 
 

ब) खालील णवधाने चकू णक बरोबर ते णलहा. 
१) कमी णनव्वळ सद्य मलू्र् असलेल्र्ा प्रकल्प स्वीकारावा 
२) व्र्वस्थापन माणहती प्रणाली पररमाणवाचक (Quantitative) आणण गणुातमक (Quantitative) माणहते दतेे. 

३) ऋणको फक्त एकूण परीव्र्र्ावर काढावते 

08 
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४) भाांडवलीर् अांदाजपत्रक णनणयर् दीर्य मदुतीचे असतात. 
५) सवय तरल मालमत्ता चाल ूमालमत्ता असते. 
६) कजय रोखर्ाांची परतफेड गुांतवणकू क्रीर्ाांवरील रोख प्रवाह आह.े 

 

 

08 

 

प्र. ३  खाली राजेश णलणमटेड उतपन्न पत्रक आह े 

नफातोटा खाते 

आरभीचा मालसाठा 54,300 णवक्री 5,40,000 

खरेदी 3,27,150 अखरेचा मालसाठा 84,000 

खरेदी वाहतकू खचय 8,550 व्र्ाज उतपन्न  

 

5,400 

कचेरी खचय 90,000   

णवक्री खचय  27,000   

णस्थर मालमत्ता 

णवक्रीवरील तोटा  

2,400   

णनव्वळ नफा 1,20,000   

 6,29,400  6,29,400 
 

खालील अनपुात काढा 

१) णवक्री खचय अनपुात 

२) मालसाठा उलाढाल अनपुात 

३) कार्यवाहीन अनपुात  
४) करपवूय णनव्वळ नफा अनपुात 

५) ढोबळ नफा अनपुात  
ढोबळ नफ्र्ावर तमुच्र्ा टीपा णलहा. 

उभ्र्ा प्रारूपातील उतपन्न पत्रक बनवण्र्ाची आवश्र्कता नाही  
 

16 

प्र. ४  खालील माणहतीनसुार णनम्मणलणखत अनपुात काढा आणण तरल अनपुातावर णटप णलहा. 

अ) पुांजी प्रमाण अनपुात 

ब) स्वाणमतव अनपुात 

क) चाल ूअनपुात 

ड) तरल अनपुात 

इ) मालसाठा खळेते भाांडवल अनपुात 

तपशील  रु. तपशील  रु. 

रोख 25,000 जमीन व इमारत 4,00,000     

आगाऊ खचय 31,000 मालसाठा 1,36,500 

धनको 2,03,000 ऋणको 2,61,500 

र्ेण ेह ांड्र्ा 10,500 सर्ांत्र 2,72,000 

16 
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12% कजय रोखे 1,25,000 सांचालकाांकडून कजय (३ वषय 

कररता) 

2,00,000 

सामान्र् भाग भाांडवल 5,00,000   

नफा तोटा खाते (जमा) 1,08,500   
 

सचूना : उभ्र्ा प्रारूपातील ताळेबांद बनवण्र्ाची आवश्र्कता नाही. 

 

 

 

 

 

 

प्र. ५  णभडे णलणमटेड ३१ माचय रोजीचे कलदशयक पत्रक पणूय करा. 
 

तपशील  रक्कम कलदशयक % 

2015 2016 2017 2018 2015 2016 2017 2018  

णनव्वळ णवक्री  ? 4800 ? 4000 100 120 80 100 

(-) णवक्रीचे खचय  ? ? 2560 3000 100 110 100 ? 

ढोबळ नफा 1440 ? 640 ? 100 ?  44.44 ? 

(+) आकार्यवाहीन उतपन्न 300 180 270 ? 100 60 90  50 

(-)  आकार्यवाहीन खचय 20 ? 16 32 100 40 ? 160 

व्र्ाज व कर पवूय नफा 1720 2156 894 1118 100 ? ? 65 

(-) व्र्ाज  ? 80 240 120 100 ? 600 ? 

करपवूय नफा 1680 ? 654 ? 100 ? ? 59.40 

(-) कर  840 ? ? 499 100 ? 38.93  ? 

कर पश्चात नफा 840 1038 327 ? 100

 

, 

? ? 59.40 

(-) लाभाांश 20 ? 18 6 100 ? 90 30 

णनव्वळ उतपन्न 820 820 309 493 100 100 ? ? 
 
 

16 

प्र. ६  सणुमत णलणमटेड कडे रु.३० लाखाचा गुांतवणकू / प्रस्ताव आह.े 

अपेणक्षत रोख अत:प्रवाह आह ेसद्य मलू्र् र्टक खालील प्रमाण.े 

वषय  नफा सद्य मलू्र् र्टक १०% 

1 5,25,000 0.909 

2 5,25,000 0.826 

3 6,00,000 0.751 

4 6,00,000 0.683 

5 6,75,000 0.621 

6 6,75,000 0.564 

7 7,50,000 0.513 

8 7,50,000 0.467 

9 6,00,000 0.424 

10 4,50,000 0.386 
 

16 
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खालील गोष्टी सोडवा 

१. परतावा कालावधी  
२. णनव्वळ सद्य मलू्र् @१०% 

३. नफा क्षमता णनदशेाांक@ १०% 
 

प्र. ७  गपु्ता अांड सन्स ची ३१ माचय 2018 ची माणहती खालील प्रमाण ेउभ्र्ा प्रारूपातील ताळेबांद बनवा. 
 

तपशील रु 

आर्कर तरतदू 8,000 

आगाऊ कर  9,000 

बाजारी गुांतवणकू 5,000 

नफा तोटे खाते-जमा 8,000 

सामान्र् भाग भाांडवल 40,000 

बँक अणधक्र्ष 9,000 

बँक कजय  17,500 

सर्ांत्र  26,000 

प्राथणमक खचय  1,500 

णवणवध ऋणको 9,000 

साधारण णनधी 7,000 

णवणवध धनको 4,000 

मालसाठा 15,000 

इमारत(परीव्र्र् वजा र्सारा) 20,000 

रोख व बँक 8,000 
 

16 

प्र. ८  फाईव स्टार चे ताांळेबांद खालील प्रमाण ेआह.े 

                                                                          ताळेबांद 

दरे्ता 2017 2018 मालमत्ता 2017 2018 

सामान्र् भाग 

भाांडवल 

3,00,000 400000 नावलौणकक 115000 90000 

8% अग्र हक 

भाग भाांडवल 

150000 100000 जमीन व इमारत 200000 170000 

साधारण णनधी 40000 70000 सणनर्ांत्र 80000 200000 

नफा-तोटा खाते 30000 48000 मालासाठ  77000 109000 

णवणवध धनको 55000 83000 णवणवध ऋणको 160000 200000 

दणेी ह ांड्र्ा 20000 16000 र्ेणी ह ांड्र्ा 20000 30000 

आर्कर तरतदू 40000 50000 बँक 10000 8000 

प्रस्ताणवत लाभाश 42000 50000 रोख  15000 10000 

 677000 817000  677000 817000 

16 
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अणधक माणहती. 

१. सर्ांत्र आणण जमीन व इमारतीवर रु १०,००० आणण २०,००० अनकु्रम ेर्सारा आह.े 

२. 2018 मध्र्े रु. २०,००० अांतररम लाभाांश वाटला. 
३. 2018 मध्र्े रु. ३५,००० आर्कर भरला 

वषय अखरे 2018 कररता अप्रतर्क्ष पद्धतीने रोख प्रवाह पत्रक बनवा 
 

प्र. ९  सांणक्षप्त टीपा णलहा (कोणतेही चार) 

१. व्र्वस्थापन माणहती प्रणालीच्र्ा आर्ोजनातील टप्पे 

२. दोबळ खेळते भाांडवल आणण णनव्वळ  खेळते भाांडवल 

३. व्र्वस्थापन  माणहती प्रणालीचे वणैशष््टर्े 
४. पुांजी प्रमाण अनपुात 

       ५. कलदशयक पत्रक 
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************** 

 


